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Name :

lll Semester B.Com. Degree (CBCSS _ Sup./lmp.)
Examination, Novemb er 2020

(2014 -'18 Admns.)
General Course

3A12 coM : NUMERIGAL sKrLLs FoR BUSTNESS

Time : 3 Hours
Max. Marks : 40

PART _ A

Answer alt questions. Each carries Vz mark:

1' In a 

- 

matrix, all the elements above the leading diagonal are zero.
a) Upper triangular b) Lower triangular
c) Diagonal d) Scalar

2. 11 125_2/3 =
a) 1/5

c) 1/50

3. lf ",6'* = 27 , then x =
a)2
c)4

b) 1t25

d) 1t125

b)3
d)6

b) -3
d) - 8 (4xVz=2)

P.T.O.

4. lf A=

a) 29

c)4

lo 2 'l
I 

U -8 z 
l, 

the trace of A is

Le61J
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PART _ B
Answer any four questions. Each carries 1 mark :

5. What is idempotent matrix ?
6. lf 4:g=12:X,findX.

t 
-$h;r."3i,T?ti".f."#?rll-12 

davs w,,hile Mr p and Mr- e rosether cantn" dirr work oviirJ"iri manv days will be requirei'ti n,tr e to comprere

8. Rationafise the denominator of 4Q:
9. Two-third of a number dee-^^ i11 -_Jz

;reased by 7 equals _1. Find the number.10. lf p: e =3:4,e: R = 5:6 and R:S = g:9, find p:e: R:S. @x1={)
PART _ C

Answer any six questions (not exceeding one page). Each carries 3 marks :

ir 2 sl lt o sl [r o 1r11.tto=1, 0 t/e=/e I l^ 
/I I l- -1 2lc=12 -1 rf ,rino2A+38_4cIr _1 2l lr o ,J l, _1 oJ 

,""

12. Verify De Morgan,s Law for A = tZ, 3],8 = {3, 4}, lJ = {1, 2,g, 4, 5}.13. Sofve 3x+S _ g2x +1.

,o 
AJ;,t#rfr,fJftr,n?::,r"i:3;JT Rs 8,6e5 and 4rabbits and e doss for

15' Mr' X borrowed Rs. 20,000 frory a. bank, but he cgirrd not repay any amount inl.|*iifl,"J,,3,{?XT;n?l,l;l*ffi#T H, zo,soo i,.t#?i,, what is the
16. Explain the following with examptes :a) power set ;) Singleton set.ta tt r 

v,,,v,srvr r ue[ c) Disjoint setst/. tt Vx = Jz + J5, showthatx2_ 10x+ 1_0.
18. Construct the truth tabfe to prove _ (p r Q) = _ p ^ _ q.

(6x3=18)
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PART _ D

Answer any two questions. Each carries 8 marks :

19' Solve the following |inear equations using matrix method :

2x+4Yrz=7
10x-2Y+92-17
X+Y*Z=3'
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2o a) Simpriry .Jlf,+ry--(G; js)(s. Jz)

b) lf x = JZ * 1 , show that x2 + 1lx2 =6'

21. a) A machine costs Rs, 50,000, calculate its scrap value at the end of

Syears'Depreciationwascharged@1Q7op'a.onthediminishingbalance
method.

b) How long would a sum of money take to double itself if allowed to accumulate

at 4Vzo/ocompound interest payaole yearly ? (2x8=16)


